02.03.2015 |

Drill - 0 601 137 539 - GBM 10 SRE

www.powertools-aftersalesservice.com

Part Number

2 605 104 378
2604 220 499
2604 010 706
1606 610 116
2 607 200 203
2604 460 121

6 2600 703 037
7 2601035001
9 2601116 661

13
14
16
18
19
20
25
26
29
30
31
32
33
35
38
40

42
43
44
46
47
48
50

2 600 905 032
2600917 003
2605 807 122
2603 410 001
2603 490 022
2601118 585
2607 200 231
2601 022 000
1900 210 000
2601 990 005
2600 100 034
2600 025 005
1903 230 013
2603 490 025
1900 905 166
2603421211

2600 209 004
2603 490 017
2600 220 026
2 604 448 060
2 604 448 045
2604 448 034
2604 448 147

Description
Housing Section BLUE
Field 110-115V

Armature 110-115V
Fan
Switch

Power supply cord USA/CDN 2,15m 2 x
082mm SJ 18/2

Grommet &7,0-28,1x84 MM

Cable Clip

Manufacturer's nameplate
Deep-Groove Ball Bearing 7x19x6
Needle bearing @8x8 MM

Brush Plate

Socket head cap screw M3x6,5-4.8
Torx Oval-Head Screw 4x16
Reference Plate

Change-Over Switch

Damping Plate

O-Ring 5,0x1,5 MM

Indexing Disk

Supporting Disc

Pressure Plate

Ball DIN 5401-@7MM-III-ST

Torx Oval-Head Screw 4x30
Deep-Groove Ball Bearing DIN 625-6003-2RS

Countersunk-Head Screw M6x20 MM
LEFTHAND THREADS

Spacer Ring

Torx Oval-Head Screw 3x10
Bushing

Cable L=173 MM WHITE

Cable L=98 MM BLACK
Connecting Cable L=88 MM WHITE
Connecting Cable L=85 MM WHITE

lllustration

[ e O e T e T = T = T e T = T = S S S S e S S e e N = R

R R R B s e

B RN R R R B NDRE R R NODNNRBR R R BB R N = N = S

[ N S =N =N

Price Group

29
30
36
14
38
27

11
11
15
17
14
24
11
10
13
25
11
11
11
11
11
10
10
24
11

13
10
23
13
11
11
11

02.03.2015

www.powertools-aftersalesservice.com

Page 1 of 3


www.powertools-aftersalesservice.com

Drill - 0 601 137 539 - GBM 10 SRE

Part Number Description lllustration Price Quantity Price Group
51 2604 448 132 Connecting Cable L=103 MM BLUE 1 - 1 11
54 2601329043 Contact Strap 1 - 1 11
56 2916 650 008 Spring retaining ring DIN 471 17x1 MM 1 - 1 11
58 2 600 506 009 Thrust Member 1 =7 1 11
59 2604 611 040 Compression Spring 1 - 1 11
63 2 604 601 004 Retaining ring 1 - 1 11
201 2 604 448 115 Connecting Cable L=73 MM WHITE 1 - 1 11
739 1608 571 061 Key Chuck 1/2"-20 UNF 1 = 1
739/800 2 607 950 007 Chuck Wrench SG2 1 = 1 18
764 2 600 460 026 Depth-Gauge 1 - 1
765 2 607 000 366 Screwdriver Bit 1 - 1
808 1601 106 032 Nameplate 26x52 MM N/A =7 1 13
816/01/40 2 604 321 911 Carbon-Brush Set 1 = 1 22
816/020 2 601 322 013 Ratchet Cap 1 = 2 11
828 2910611 020 Tapping Screw DIN 7981-ST3,9x19-C-H 1 % 10 11
834 2605 807 924 Bearing Bracket 1 - 1 28
855 2606 135 919 Drilling Spindle 1 =7 1 34
860 2 606 100 916 Jack Shaft 1 =7 1 28
872 2608 500 006 Adapter 1 1 39

02.03.2015 www.powertools-aftersalesservice.com Page 2 of 3



Drill - 0 601 137 539 - GBM 10 SRE

lllustration - Type E

epJainbz) eosoy

ayonob abeja|4

peaiyl puey ya7
opumabisyuil = @

L uabuipiaiyoz-uspiejula Sri0/L
abnazyJamoiyal] ysjaleqsyeyssen
HQWy yasoq Waqoy

SBUCIIEIJIPOWL CAIES
$88/958) SUOHEIIPOY
poAlesal SUOHEDPO
uajeyaqion usbuniapuy

l0-¥6 °ONss|
BO-<€6 puElS

6€S ZEL 109 0 dAL

Information subject to change without further notice.

Page 3 of 3

www.powertools-aftersalesservice.com

02.03.2015



